
THE GOLDEN GOOSE – A2 – ANSWER KEY 

1) 2. A      3. B      4. B      5. A      6. B      7. A      8. B 

2) 2. AXE / E      3. CRY OUT / D       4. CURIOUS / C      5. COMFORTABLE / B 

3) Across: 4. follow    5. wound    6. midnight    7. dwarf 

Down: 2. crowd     3. woodcutter     4. feather 

4) dwarf, basket, tree, axe 

5) 2. T     3. F      4. F      5. T 

6) 2. S     3. D     4. M      5. D      6. M      7. S 

7) 1. In the first picture, the hotelkeeper’s eldest daughter has got a white T-shirt. 

In the second picture, she has got a purple T-shirt. 

2. In the first picture, the woman farmer has got a hat. In the second picture, 

she hasn’t got a hat. 

3. In the first picture, the golden goose is big. In the second picture, it is small. 

4. In the first picture, there is a house behind Simpleton. In the second picture, 

there isn’t a house behind him. 

5. In the first picture, the woodcutter is angry. In the second picture, he is 

happy/not angry. 


